Basic Math Vocabulary

. N is the number of students in the

class. W is the number of women

Quiz 1

and M is the number of men. Which

number sentence is correct?

a N=M-W
b. N=MxW
c. W=N+M
d N=W+M

. When you combine 3, 5, and 6.
Which operation do you perform?
a. Multiplication
b. Division
c. Addition
d. Subtraction
. What is 11 plus 67?
a. 5
b. 66
c. 17
d. 1.8

. When you divide 12 by 5, what is
27
The quotient
The remainder
The product
The average

apop

. The temperature went from 50° to
45°. What did the temperature do?
a. It divided
b. It subtracted
c. Itincreased
d. It decreased

. John's pay went from $8 per hour
to $10 per hour. What happened
to his pay?

a. It decreased
b. Itincreased
c. Itdoubled
d. Ittripled

Answers

35

7.

If you buy 4 hamburgers at $2.50
each, what is $10?

a. It's the change

b. It's the average

c. It's the total

d. It's the remainder

Which price is little under $4,0007?
a. $3,987
b. $4,009
c. $5,299
d. $4,899

When you split something 3 ways

which operation do you perform?
a. Addition

Subtraction

Multiplication

b.
C.
d. Division

10.How do you triple a number?

Q

. Multiply by 3
Divide by 3
Multiply by 2

b.
C.
d. Add 3
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